Efficiency of Market Allocations

Impacts on people “external” to the transactions can counter this proposition.  We call such impacts “externalities.”
PROBLEM  

MOTHERS AGAINST DRUNK DRIVING HAVE SUGGESTED THAT THE TAX ON ALCOHOL THAT IS CURRENT LEVIED ON THE SELLERS SHOULD RATHER BE LEVIED ON BUYERS.  THEY ARGUE THAT BY RAISING THE COST OF ALCOHOL TO THE BUYERS THE CONSUMPTION OF ALCOHOL WILL BE REDUCED.  EVALUATE.

BEGIN WITH A TAX OF 2/UNIT ON THE SELLER
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WITH THE TAX IN PLACE, GAINS FROM TRADE ARE REDUCED.

THE TAX IS ON THIS ACCOUNT INEFFICIENT.

WHO PAYS THE TAX??

WHAT IF WE PLACE THE TAX ON BUYERS INSTEAD OF SELLERS??

	ASSUME A TAX OF 2 PER UNIT ON THE BUYERS
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PRODUCTION - CREATION OF A NEW ECONOMIC GOOD BY USING UP OTHER ECONOMIC GOODS.

EXAMPLE OF A PRODUCTION OPPORTUNITY

KIM   CAN TRADE ONE HOUR OF HER TIME FOR





10 LOGS

OR

1 UNIT OF FOOD

KIM HAS DECIDED TO WORK 8 HOURS

KIM’S “PRODUCTION POSSIBILITIES”
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GIVEN HER PRODUCTION OPPORTUNITIES KIM CHOOSES  40 LOGS & 4 FOOD
SECOND EXAMPLE OF A PRODUCTION OPPORTUNITY

CHRIS           CAN TRADE ONE HOUR OF HIS TIME FOR





6 LOGS

OR

1/2 UNIT OF FOOD

CHRIS HAS DECIDED TO WORK 12 HOURS

CHRIS’S “PRODUCTION POSSIBILITIES”
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FROM THESE OPPORTUNITIES CHRIS CHOOSES TO PRODUCE 24 LOGS AND 4 FOOD
KIM



10 LOGS PER HOUR




OR


  (WORKS 8 HOURS)



1   FOOD PER HOUR




CHOOSES 40 LOGS & 4 FOOD

CHRIS



6     LOGS PER HOUR





OR


  (WORKS 12 HOURS)



1/2  FOOD PER HOUR




CHOOSES 24 LOGS & 4 FOOD

IF KIM AND CHRIS MEET, DO WE EXPECT THEM TO TRADE?

MV LOG KIM 

=?

= 1/10 FOOD

MV LOG CHRIS   
=?   

= 1/12 FOOD

IF THEY TRADE, EXPECT PRICE SOMEWHERE BETWEEN MVs.


ASSUME PRICE OF A LOG = 1/11 UNIT OF FOOD







       RESULT




  KIM

             CHRIS



LOGS
FOOD

LOGS
FOOD
PRODUCE
    40
    
    4


    24
            4

(INDIFFERENT)       50
     3


    12              5 

ASSUME ACTUAL TRADE IS 1 FOOD FOR 11LOGS

CONSUMPTION 51           3                   13           5
PRODUCTION - DESTROYS ONE ECONOMIC GOOD TO CREATE ANOTHER.

DONE ONLY WITH EXPECTATION OF BEING BETTER OFF.

FROM THE ALTERNATIVES REPRESENTED BY THE PRODUCTION POSSIBILITIES, KIM AND CHRIS WILL ATTEMPT TO CHOOSE THE MOST PREFERRED.

IN EFFECT KIM CAN TRADE WITH NATURE AT THE TRADING RATE OF 10 LOGS FOR ONE UNIT OF FOOD.

SHE WILL CONTINUE TO MAKE THAT TRADE AS LONG AS HER MARGINAL VALUE OF FOOD EXCEEDS 10 LOGS.  AS SHE CONTINUES TO TRADE HER MARGINAL VALUE OF FOOD WILL BE FALLING.  SHE WILL CEASE TRADING WHEN HER MARGINAL VALUE OF FOOD JUST EQUALS THE “PRICE” OF 10 LOGS.

AT THE PREFERRED ALTERNATIVE:

MARGINAL VALUE = OPPORTUNITY COST=

FOREGONE PRODUCTION OPPORTUNITY=

NUMBER LOGS GIVEN UP TO GET ONE MORE FOOD

KIM 

    MV FOOD = 10 LOGS; MV LOGS = 1/10TH FOOD

CHRIS

    MV FOOD = 12 LOGS; MV LOGS = 1/12TH FOOD

NEXT WEEK

KIM AND CHRIS EXPECT TO BE ABLE TO TRADE WITH ONE ANOTHER




1 FOOD FOR 11 LOGS

??HOW WOULD YOU EXPECT KIM’S PRODUCTION DECISION TO CHANGE??

(WHY PRODUCE LOGS? GET ONLY 10 IF 1 UNIT OF FOOD IS GIVEN UP.  BETTER TO TRADE WITH CHRIS.)

KIM 

WILL SPECIALIZE IN FOOD PRODUCTION

CHRIS  (RATHER THAN PRODUCE FOOD, GIVING UP 12 LOGS, TRADE 11 LOGS TO KIM)

WILL SPECIALIZE IN LOG PRODUCTION







       RESULT




KIM
     CHRIS          SOCIETY




LOGS  FOOD
   LOGS
FOOD     LOGS  FOOD
INITIALLY
    51

3
      13
      5           64          8

SPECIALIZE

PRODUCE           0         8             72            0       
CONSUME          55        3             17            5           72         8

KIM HAS AN ABSOLUTE ADVANTAGE IN BOTH LOG AND FOOD PRODUCTION

     (USES LESS TIME THAN CHRIS PER LOG OR PER FOOD)
IRRELEVANT FOR EFFICIENT PRODUCTION DECISIONS

    (CAN’T TRADE TIME)

RELEVANT FACTOR

COST OF FOREGONE PRODUCTION

FOOD

KIM COST = 10 LOGS




CHRIS COST

  = 12 LOGS

LOGS

KIM COST = 1/10 FOOD




CHRIS COST
         = 1/12 FOOD

KIM HAS A COMPARATIVE ADVANTAGE IN FOOD PRODUCTION

CHRIS HAS A COMPARATIVE ADVANTAGE IN LOG PRODUCTION

LAW OF COMPARATIVE ADVANTAGE

EFFICIENT PRODUCTION REQUIRES SPECIALIZATION IN PRODUCTION FOR THE GOOD THAT AN INDIVIDUAL HAS A LOWER OPPORTUNITY COST 
[image: image1.wmf]SOCIETY'S PRODUCTION POSSIBILITIES BOUNDARY

0

2

4

6

8

10

12

14

16

0

20

40

60

80

100

120

140

160

LOGS

FOOD


NEARBY LIVED MICHAEL

MICHAEL’S PRODUCTION OPPORTUNITIES

MICHAEL  CAN TRADE ONE HOUR OF HER TIME FOR





6 LOGS

OR

1 UNIT OF FOOD

MICHAEL HAS DECIDED TO WORK 10 HOURS

SHE HAS CHOSEN TO PRODUCE




48 LOGS   AND 2 FOOD

MICHAEL COMES ACROSS KIM & CHRIS AFTER THEY HAD TRADED

DO YOU EXPECT MICHAEL TO ENGAGE IN TRADE WITH KIM AND CHRIS??

MICHAEL MV FOOD 

      
=

KIM & CHRIS MV FOOD 

=

DO YOU EXPECT MICHAEL’S PRODUCTION TO CHANGE (IN ANTICIPATION OF BEING ABLE TO TRADE)

(WHY GIVE UP 1 UNIT OF FOOD TO GET 6 LOGS IN PRODUCTION WHEN SHE COULD USE THAT HOUR TO PRODUCE ANOTHER FOOD AND TRADE FOR 11?)

SOCIETY OF DUVALL - KIM & CHRIS




KIM
     CHRIS          DUVALL




LOGS  FOOD
   LOGS
FOOD     LOGS  FOOD
PRODUCE           0         8              72            0       
PRICE OF FOOD = 11 LOGS

CONSUME          55        3             17             5       72         8

SOCIETY OF MONROE -  MICHAEL







MICHAEL
THE WORLD







LOGS  FOOD

LOGS  FOOD
PRODUCE & CONSUME          48         2

   120        10






PRICE OF FOOD = 6 LOGS




WITH TRADING OPPORTUNITY MICHAEL WILL SPECIALIZE IN ??

MAKES AVAILABLE LOGS = 72

              AVAILABLE FOOD = 18

SHORTAGE OF LOGS - SURPLUS OF FOOD

WHAT HAPPENS??

WHAT IS NEW POSSIBLE EQUILIBRIUM PRICE??

NEW PRICE OF FOOD = 9 LOGS



         KIM



CHRIS
       MICHAEL

OPPORTUNITY  10 LOGS/FOOD     12 LOGS/FOOD     6 LOGS/FOOD



           LOGS  FOOD
     LOGS  FOOD       LOGS  FOOD
PRODUCE

     80

0

72
  0

 0
   10

CONSUME

     53
         3                 27        5               72         2

DUVALL IS BETTER OFF
LOGS
FOOD

BEFORE



     72
    8
 


AFTER



           80         8

MONROE IS BETTER OFF 


(NOTE - DUVALL CANNOT BE WORSE OFF.  PRICE AT HIGHEST COULD BE 10.  THEN DUVALL STILL GETS 72 LOGS AND 8 FOOD.)

KIM HOWEVER IS WORSE OFF!

SHE HAS LOST HER COMPARATIVE ADVANTAGE AND HAS TO SWITCH TO HER NEXT BEST OPTION.
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